
:yfgLo txsf] cfly{s P]g, @)&$ 
 

d]nDrL gu/kflnsf, gu/sfo{kflnsfsf] sfof{no 
 

d]nDrL, l;Gw'kfNrf]s 
 

cg';"lr—! 
 

;DklQ s/ 
 

l;=g+ ljj/0f s/sf b/ -?_ 
 

1 3/ w'/L s/    
 

1=1 RCC/RBC 9nfg 3/sf] klxnf] tNnf   300 
 

1=2 
RCC/RBC 9nfgsf] klxnf] tnf eGbf a9L ePdf k|lt tNnf                             

-RCC/RBC 9nfg 3/sf] clGtd tnfdf 5fgf h:tf /flvPdf 9nfg ;/x dflgg]5_ 
100 

 

1=3 RCC/RBC ljgfsf] h:tfsf] 5fgf ePsf] kSsL 3/  200 
 

1=4 9'+uf df6f]n] ag]sf] h:tfsf] 5fgf ePsf] sRrL 3/  100 
 

    

    
cg';"lr—@ 

 
dfnkf]t÷e'dL s/ 

 
l;=g+ ljj/0f s/sf b/ -?_ 

 
! sfnf]kq] ;8sdf hf]l8Psf hUuf   

 
1=1 Ps /f]kgL;Ddsf]  250 

 
1=2 Ps /f]kgLeGbf a9L ePdf yk k|lt /f]kgL 100 

 
2 df]6/af6f]df -u|fe]n, df6] ;8s_ hf]]l8Psf hUuf   

 
2=1 Ps /f]kgL;Ddsf]  50 

 
2=2 Ps /f]kgLeGbf a9L ePdf yk k|lt /f]kgL 10 

 
3 wfg v]t   

 
3=1 # /f]kgL;Ddsf]  50 

 
3=2 # /fkgL]eGbf a9L ePdf yk k|lt /f]kgL 10 

 
4 kfvf] af/L   

 
4=1 # /f]kgL;Ddsf]  30 

 
4=2 # /f]kgLeGbf a9L ePdf yk k|lt /f]kgL 5 

 

    
cg';"lr—# 

 
3/hUuf axfn s/ 

 
l;=g+ ljj/0f s/sf b/ -?_ 

 
1 3/hUuf jxfn s/ 2 k|ltzt 

 

    
 


